
MATHEMATICS
WITH KELVIN

Look at the examples and complete the rest:

1908 =

5623 =

4157 = 

6832 = 

1789 = 1 thousand + 7 hundreds + 8 tens + 9 ones

1 thousand + 9 hundreds + 0 tens + 8 ones = 1908

7 milhares + 6 hundreds + 2 tens + 9 ones = 

8 milhares + 1 hundreds + 3 tens + 4 ones = 

0 milhares + 4 hundreds + 4 tens + 4 ones = 0

milhares+ 4 hundreds + 4 tens + 4 ones = 
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6934 =

8578 = 

5564 = 

3298 = 

6000 + 500 + 90 + 6 = 

1000 + 700 + 80 + 1 = 

6000 + 500 + 90 + 6 = 

4000 + 400 + 20 + 2 = 

2645 = 2000 + 600 + 40 + 5

4000 + 100 + 70 + 9 = 4179


